1.verze

import random

L n <1 n <1 n

adj = ["Cerveny","stary","nablyskany","rozpadajici

se","pomaly"]
podst_jmena = ["autobus","vlak","skatr","taxik","kan"]
prisud = ["uhanél","se ritil","se plazil","jel"]

predm = ["do porodnice","do Brna","do pohadky","do

rybnika","na dovolenou"]
print
(random.choice(adj),random.choice(podst_jmena),random.choi

ce(prisud),random.choice(predm))

2.verze

import random

for x in range (5):

adj = ["Cerveny","stary","nablyskany","rozpadajici

se","pomaly"]
podst_jmena =
["autobus”, "vlak","skuatr","taxik","auto"]
prisud = ["uhanél","se ritil","se plazil"”,"jel"]

predm = ["do porodnice","do Brna","do pohadky","do

rybnika","na dovolenou"]

num = random.randrange(90,4)

numl = random.randrange (0,4)
num2 = random.randrange (0,4)
num3 = random.randrange (0,4)

print (adj[num] + + podst_jmena[numl] + +

prisud[num2] + + predm[num3])






